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5 The graph shows the forces experienced by an astronaut during a rocket launch into a
stable orbit.
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In which time interval was the acceleration of the rocket the greatest?
(A) S-T
B) T-U
< uU-v
D) Vv-w
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A | 0.6 0 0.6 0 0.6
B 79.4 81.7 66.7 43.5 28.1
C 16.1 16.5 31.9 56.5 71.3
D 3.9 1.8 0.8 0 0
N 0 0 0 0 0



HSC 2001 - Physics
Question 5

Cluestion &

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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